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Answer all questions
Answer either in English or in Assamese
OPTION—A

[ History of Europe (1453-1815) ]

1. Answer the following questions in one word or
in one sentence : 1x10=10

o] PR T b7 X1 1 IS fordt

(a) What do you understand by the term
Reformation Movement?

T A GPRFR SICwe Jferest s g 2
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(2] (3)

(4) Who was Martin Luther? 2. Answer the following questions in brief :
. 2x5=10
fow T @ wfeE 2 SO AR B T 7

(c/) Name a humanist writer of the

i . (a) Write a brief note on the paintings of
Renaissance period.

Leonardo da Vinci.

foreice) v fefm foas e «fs 53 Gt foran |

(b) What was the ‘Social Contract’?

TGS A QSN e R
forqt |

(dj Who were the Jacobins?

™ Y ‘corfoare w6 e 2
C@Cﬂs 3;”!155! ! a”z—él H
(c) What was the ‘Reign of Terror’?
(e} Who was Calvin? :
TP’ 6 wie 2
e (@i oiRe 2
(d) What was the ‘Continental System’
(fi’ Who was Metternich?
TR S’ 6 e 2
R @ e 2

(e) When was the Battle of Trafalgar fought

(99 In which year was the Peace of and between whom?

Westphalia signed?

BRI A W TS WrERe (2fRe 2 Eﬁgﬂﬁﬁﬂ{%@mwwwwmﬂ%
(h) What is Cahier? - :

o o {\%Kﬂ & e 3. '}Zﬁl(;c;av insgh:ort notes on any four of t;:i o
(i) When did the Bastille fall? o7 il A (I BIRGR 5 (B fora -

RRER w7 few C2fea 2 (a) Johann Gutenburg
() What is the meaning of Renaissance? Q= SCHaTsf

SqesRe o 6 7
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(b) Machiavelli (c) Trace the different stages of the Thirty
- Years’ War.
T =3t Jae [fSa IR Seae 41 |
(c) Peace of Lubeck (1629) ~ kS
GISAS it (1629) (d) Discuss the importance of the Treaty of
v Westphalia in the history of Europe.
(d) The Girondists _
ST RRIS IR LIS BRI ICRE R TR0 S G
E HICSOAT <7
(e) The Consulate
(e} What were the causes of thé French
fit FRRICTE Revolution of 1789?
() Treaty of Tilsit 1789 51 10! g FepTy ¥ wnifeet 2
foafoeq A
_ (f) Assess the role of the intellectuals in the
French Revolution.
4. Answer any four of the following questions : 40 Roge TSTTEe \Eﬁ ; S
10x4=40
o PR B @ HIRER Teg forar (g) Discuss the causes for the rise of

. Napoleon to power.
(a) What were the effects of the Renaissance P P

S IR SR PR ST 3417 |
ISR TS R ST (IR ?
S e (h) Assess the role of economic factors in the
(b) Discuss the main features of the downfall of Napoleon.

Reformation Movement in Europe.

TR Aoqe  wafss IR SR
FTEPA GORFN SICTE e CREPRR e o
AT 1 |
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( 6) (7))

OPTION—B (e} In which year was the Franco-Prussian

[ History of Europe (1815-1945) | War fought?
FRCF 2P & (1 bove ufbo C2fee 2

5. Answer the following questions in one word or

in one sentence : 1x10=10 (/. Who doctored the Ems Telegraph?
o PR T Qb7 *7 1 AT oI Ems Telegraph (7 en3{%e 2
(a) Who initiated the Holy Alliance? (g In which year did the First World War
Holy Alliance-d IS T PCIEFSl (I begin?
FoiRA a1 fon ol oicabe vafie 2
(b) In which year did Louis Philippe abdicate (h) Where is Pearl Harbour situated?
the throne of France? )
e TR T ST 2
35 ffercel o e FER FRepE afsfes a1
qzp fEfe @ e FPE e @R () In which year was the Locarno Pact
cEREE? | signed?
@ 5T @I i Sree cafte
() Who introduced the policy of blood and | e i © T
iron’? ‘ I 2 7
‘Blood and iron’ A (I 28 W? | () In which year did the World Economic
Depression occur?
(d) Who were the participants in the
ﬁ’ﬁ@ﬂ?ﬂo@zﬁ‘w &I 7@ (3f%e ?

Crimean War?

R Tae (@I A ar fEfRe O e
G S QM FIa1Re ?
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( 8) | (9)

6. Answer the following questions in brief : 7. Write. short notes on any four of the
2x5=10 ‘ following : 5x4=20
o PPTIES DY T e TS g1 R e SiRGR 55 Gt fora
(a) Mention two effects of the Revolution of | (a) Congress of Vienna
1930. IS
1930 575 Rz 51 S 71| (b) Russian Revolution

(p) Name the two Houses of French ! i
Parliament formed by Louis XVIIL.

(c) Count Cavour

<R SECA S 1 FE O el (oI T
f&2 JED (FS'F

(d) Crimean War
(c) Write two most important causes for the

outbreak of the First World War. IRatRIC T
oo Reagad o1 24 e TeEd 90 | | () Rome-Berlin-Tokyo Axis
Q-5 e

(d) Name the two blocs which fought the | AfeT-5°fbe «fip

Second World War. 15O Nt

"o fregae @ 391 7% o1 S fF, TeEs | e

411 ‘

8. Answer any four of the following questions :

(e) Name two important treaties that were 10%x4=40

signed at the end of the Second World O TR R e BIREH T By

el (a) Analyze the causes of the Revolution of

B8 frrma cTe A TN LA g A 1848.

f& f, fer | POV RS E————
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(b)

(©

(d)

(e)

( 10 )

Describe the process of Italian
Unification.

SoEe TR e Seefes Racw
SICETS F4T |

Assess the role of Bismarck in the
process of German Unification.

wfe BT Rvas e femd )

Discuss the circumstances that led to the
fall of monarchy in Russia.

SRR IEOT AT FRPEZ A F0

oo TeTd fwd CFES SRR S
FRITR R SACeva 1 1

Explain the circumstances leading to the
First World War. What were its effects?

g foym vkefbe Ee WA e
SRR [ &, ST 991 1 ¢ JRT ASRCEN
fo 15, foran

Review the League of Nations. Why did it
fail?

League of Nation-3 ¥ 7S F41 |
3 157 et (2feet, for<t |

(11 )

(g) To what extent was the Treaty of

(b

Versailles responsible for the outbreak of
the Second World War?

RSl fgm welte sao onfsfr A Faw
iRz enfew, Rn F4

What were the effects of the Second
World War?

RS gz e & 6 wifest 2

* %k K
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